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Module Sb quiz - Quiz

Est. Length: 1:30:00

ST Pleose Note: 1t s recommendes that you save your response a3 you complete each questin.
(5 points) || Save H

Lisa Ebert Question 1
Attempt 1 A firm has fixed costs
Juestions
1) in the long run but not in the short run.
Page 1:
1 2 3 4 s 2) in the short run and in the long run.
W @ & W @ 0 g inmeshortrunbut ot nthe long run.
& z 8 2 10
(=== = =) 4) neither in the long run nor in the short run.
Legend
[ Saved Response (Quection2 (5 points) [ Save
Marginal cost i

1) all the costs that vary with output.
2) all the costs of the fixed inputs.

3) all the costs of production of goods.

4) the change in the total cost resulting from a one-unit change in output.
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4) the change in the total cost resulting from a one-unit change in output.

Lisa Ebert
Attempt 1 Question 3 5 o) [ Save
uestions A company could produce 100 units of a good for $320 or produce 101 units of the same good for §324. The $4 difference in costs is H
Page 1: 1) the marginal benefi o producing the 101st unit.
12 03 4 s
== === 2) the marginal cost of producing the 101st urit.
é é é é ﬁ 3) neither the marginal benefit nor the marginal cost of producing the 101st unit.
4 both the marginal benefit and the marginal costof producing the 101t urit.
Legend
saved -
g v::’”’“* Question 4 (5 points) || Save
Unsaved Response Aversge totsl costs are

1) the change in total costs divided by the change in output.
2) total costs divided by total output.
3) the change in output divided by the change in total costs.

4) total output divided by total costs.
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Question 5
Cost schedule
Total variable
Output | Total fixed cost
Labor (workers) | (it abey, o cost
(units per day) | (dollars) (dotars)

o o 20 o

1 ) 20 25

2 s 20 50

3 ] 20 75

4 16 20 100

s 18 20 125

in the above table, the total variable cost of producing 16 units of output is

O 1) s20.
2) $100.
3) $60.

4) $120.

Average





